
f Admission Tech

._ Ille passage �low and answer the questions that fellow: (quest.ions 1-:4) 
Onille and Wilbur Wright, the inventors of the first flying machine, had always had a compellil)g interest 
illl aerooautics and mechanics. As young boys, they earned money by making and selling kites and 
mechanical toys.· Later, they built a printing press and operated a bicycle-repair shop. In 903, the Wright 
brothers built their first airplane. 
Tbey even designed and built thc:ir own source of propulsion - a lightweight gasor c:n · e. y 1905, 
they had perfected the first airplane that could r�n airborne for half an our at 
As the contributors of one of the most outstanding engineering acbicvemeil1Si in hi
a.re called the fathers of aviation. · 

01. The Wright brothers are called the fathers of aviation because they- [Ans: b) 
(a) flew the first flying machine b) ���ari�ew the first flying machine
( c) designed flying machines for airlines ( }�[�& machines that cootd land on water. . 

02. The Wright brothers made toys that· [Ans: c) 
( a) used gasoline as their source of proj»ll inn,-­ )could fly 
( c) they sold focmoney ( d) they sold for building their fif${ flying machine.

03. The Wright �rothcrs' int
{a) a foolish thought (b) an invention

(Ans: bJ 

'(c) a failure
04. 

OS. 

(d) a university degree for each.

(c) flight

(c).Distant 

{Ans: a) 
(d) thrust

[Ans: bl 
(d) Disgusting

06. Choose the approp ate pair of words matching the relationship suggested in the pair FAN_S: GALLERlES
(a) Teams: Goalposts (b) Referee: Decisioll� (Ans: cj 
(c) Audience: Seats (d) Counters: TickeLq

07. A community ofliving and non-living thing� that wort together is known as IAns: b) 
(a) vegetation (b) ecosystem (c) cosmos (d) hydrology

08. Mangroves arc a group of trees aJl<i shrubs that grow in- ( Ans: di 
(a) dry areas (b) mango orchards (c) man-made groves (d) swamp�

09. Hydrophobia is the fear of- .
. (a) snakes {b) hydrogen bombs (c)water (d) darkness

{Ans: c) 

IO. What is the correct part of speech of the underlined word? lfe was never th� wiser for his experience. 
(a) Proooun (b) Adjective· · (c) Adverb (d)Vcrb {Ans: c) 
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11. ·�·���·���
(a)""F.titG>I�
(c)?�

12. ���lf'mf'*'���?

(a)�

13. 

14. 'l"Pf<F��a, "liflt.'1� �-

(a}!�t�
(c)�ttm

15. fi<TAR�?

17. 

18. 

(a)�.
(c)��

19. "f��"1'i min

(a}•·

(c)�.

20. �"'lt?lf���"fl�--�

(a)�

(C)l�·

(b)�
{d) '1al'ff�

(b)�

(b) � '2tir�f

(d) � C51fllnr� I 

{b)� 

(d)�

(b)�

(d).

(b)�"'ff

. (d)� 
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(Ans: d) 

(Ans: b) 

(Ans: d) 

{Ans: a) 

(Ans: c) 

(Ans: bJ 

. . . 

IAtas: a) 

(Ans: c} 

[Aas: b) 
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21. �� �lt-l'f �91 g'-"lf '6 �91 � '151� � 327°( ,S 127°C I ��'519! t'.� �

4500 ·� �'ffl'� \"31�� ii�� <!l<l'.�'5191 ���· �\5Tt9111 �'t

��(J)?
(a) lSOO (b) 2000 (c) 2500 (d) 3000

�(d); Q1 = 1u ��=�:.Q2 ==3000j"�����1 T1 T2 327+273 127+273 

2'2. �lfiill� � �� Wlt? 

(a)� (b) llllf.«

23. � p-lill:91���-

(c) f1tllt

(a} � (b)�

(c) Rrl'F (d) .�t\Wt �--..'if,'l/ll�V

24. ��m1�2�����P-

25. 

(a)�

(a) 2.45

( 
211 9..8X1 -1 �: c);T=-�u=-ms

.
·.u

g 2 

26. � '�I : 1m�

Zl. 

(a}20 (c)25 ·.

�� 11
::: I.2 = 10A; <U<illtil, r = 0.5m 

F =�XI= 4Rx10-1 xtoxto X 0.5 N :. F = 2 X 10-sN
l'.:r 2flXOS 

(d) 30

(Ans:d)' 

a �-<fl���-�����1Mr�91lffl�[1=��:.n= 
0.1.2-.. } 

(a) n.l (b) (2n-1)A (c) {Zn+ 1)}./2
29. 6.63x10-19 Jaife.14foll���nm?·

(a) 300 (b) 600 (c) 800
he 34 r,8 

. 
�: (a);_E =. -1 �). 6.63x io-. x3xt x 109nm :. ). = 300nm6,63)(}0-19 

(d) (2n + l)A

(d) 900
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30. 2 x 10-11c � � "4x 10-9 Wbrn-2 � � C!Rif �� � � (N)� �
�?.

{a) 8 x 10-� {b) 5 x 10-8 (c) 2 x 10-9 (d} 0
�:(d);F=qVB;Y=O :. f= O;��·�V=O

��"'°'���·

31. 1!1��-1�1�������
(a)�ClWf� (b)�f;\:'R'f� (c)w�-..a (d)��
�lffif:(b);�������Rf+M�,

32. �� 30° Qlittct�� � 2kg fflst�lms-2 ���.rlllff!�a':l!.g;
(N)'1'1���
{a) 6.8 {b) 11.8

-:(d); .. � 
w 

• • • 
F - W sin 38" = ma :. F = mg sin 30° + ma � (2 x 9J. \1 2 x 3)N :. F = 15.8 N. . iJ_T, 

33. ����((2.o±o:1)m�� N,"fltlr�iF$� 
(a) s (b} 10 • (d) 20
�: (b);A� 4nr2 

:. � = 2!" = x 2 - !) 10%
34. SkgQlff$�1.2 s-1� ���0.81:ns-1C<ft"t�·�t.a"�

35. 

{a) l : 1 

(c) 6 (d) 10
- 5(1.2 + O.S)Ns = 10 Ns .

'62M,\4lct:,��R'62R����'l?il-J.�gA:gB
\ 

(b). l :2 (c) 2: I (d) 4: 1
. R2 M (2R)2 

2 �·(c)·ea =�x.=.1.=-x - =-=2·1 
' ' C. Ri Ma 2M R l ' 

36. � �ICW lll.-1 � (Au: bJ 
(a) M1.-2r-t (b) ML-1,1 {c) ML-11 (d) ML-1T-3 

37. ����Sl�y=2sin(120t-4x)�.S��-
. . . \ 

�a)3o · (b) 40 (c)� (d) 120
� v ·� w �:(a);av = 120 :. i= f= 19.098Hz; -r= 4 :. A=2 ;v= fl=30ms-t

��
2
� =4�J.=!!; �v=.120�v=�x!:.v=-30

. ... 2l 21'2 

� � y = 2sin(l20t·- 4x) => y � 2sin{4(30t - x)) _<lf y = � {2: ( vt - x)} dff � 't'Rl ..
�._v=3oms-1 
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38.. ����� 10 m 1'M \!l<\'$ �� 'l!M 30° (<fift<t��I 68 kg��·� 
121cg'of:.<Rl � l9.6 s <!! � C<m!W�I � ffi""5'ellt� (IN)��� 
(a) 200 (b) 300 (c) 400 (d) 600
lANR: (a);��. m = (68 + 12)kg = 80kg
p = rugl sln8 = (68+12)x9.8X10xsfn30" W :. p = ZOO W

t 19.6 

39. Jf¥1��<ffli���. x = 2sin3t�����. k = 30 Nm-1 �t = rr./9�lll�

40. 

41. 

��"'��

(a) 40 (b) 45

(a) 74.6
A . . 

�: (d); 2KCl03--+ 2KC1 + 302 
Mll02 ! l �X74,6 . 3><32=149.2g ;96g

(c) 80

43. �qJP'IHS-tC+ "C4iilC�li11�>! 'ffl" \!l�� �� '6 �����I '41.lfi'IMl-lllit?
{a) �-fiM"ilf4�-)� {b) �-� 
(c)o-fiM���)� . (dH·frl�-x-� . 

. CH3 CH3 .
· .. I cc1. . / o ,1 ·w 

�: (d); CH3CH = CCH3 + 03 ._ CH3CH .CCH3-+CH3CHO + CH3COCH3 + ZnO + H20 . 
I I lf20 . 
0- 0 .
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44. f.ltR�t11J1<1<1>�., QJ1.,1�iro sNz� �,m9f'lft��?
(a) CH3Clfz{:H2Br (b) CH3CH(CH3)Br
(c} CH3C(Cl!3)2Br (d) CH3CH2CH(CH3}8r
�:(a);l°RX�m,

45. �� � ¥1C<i14J�HFl � (Ans: di . 
e e <B e 

(a) CH3Cliz(:H2CH2 (b) {CH3}iCH (c) CH3CHCH2CH3 . (d} (013)2 CCH2CH3 
46. CffiOO,h��CH•'I(?

(a) C4H9011 (b) (CzHs)20 (c) C2HsOOCCH3 

47. �lll·�lF!t'tBa02 �'1n't<Rtll'!M�tf���lflHCl(aq.)��imr1•�m.
������'fftl�iR'1$�

�
{a) CuS04 (b) �a2so1 (c) NaN03 d,,..'la\:.,V:1
'111Mi!: (b);� � ��� -t Na+ 

BaCl2 ���:t'IM� HO Ill�-+ soi- ... ·� Na2SO
. 

. . 

48. CH2 = CHz di ��sp2 '1'. �� �� �'lJR7'16�. 
(a) 90 (b) 120 C) (d) 180

. 
.

.
. . 

49. � x,10-11 1·�pH JOW[�MgH ���molfi..? 
(a) 2.:..,,-_,., 1 . (b) 2.0.x 10-:19 (c) 2.0 x 10-2 (d) 2.0 x 10-1 · . r-')

. . . \ 
�(a); g2+ <!11�= x; pOH = 14-pH = 14-10 = 4 
[oH-J = 1�:\� lO�M .� x x.(10--1)� = 2 x 10-11. � x = 2 x 10-3 

50. 9.6SA.�O� 'ftif CuS04 R'ft�fiitf����-gCu��
(Cu �sl "IIMNR+ � = 63.5)
(a) 9.65 (b) 6.35 (c) 12.70 (d) 3.65

63.S �: (c); w=Z1t= 2x96500x9.65 x 4000 = 12.7g;,Cu�q�,

51. �.��-.���
(a) 1s22s12p,s (b) ls2�22p63s1 (c) 1s22s22p4 

�: (a); ts22s22p5 � �<f«l ���� � Ofti'lt
52. 35°C�9fl!TiiiR2gC0i ��"7(R=�ffl'PJ�

(a) 10.SR (b} 21� (c) 42R

�:(b);E=;nRT=iX�XRX308= 21R 
(d) 63R
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53. � �'lfilflf � A0FUCfl � 60 s di 2.0 �ol/L � 1.� mol/1.. <i!I C'ltlf � I Amo!IC�1l

� 0.5 mol/L � 0.125 mol/L � � � � s 1fmli11'Wf.?

(a) 15 (b) 30 (c) 60 (d) 120

...-. (d)· t = .!.10� � k = .!.tn .! = 0 01155 · t = -
1-ln..2:!. = 120 .... ., ..... "'!. ' k ltt 60 1 . . ' 0.1155 0.125 . 

2 1 60 sec�; 0.5 0.25- 0.125 :. Total = 120 sec. 
Ao At 60sec 60sec 

S&. 0.1 M GIJIPilt<t> �f3R;�'fll � 'lf1f ffl!Cf 0.1 M � ��'1 � <fiilt'T 

�? (Ka = 1.0 X 10-5)

(a) s (b) 6 (c) 8

lRPR {a); pH = pK3 + logfc:::m = - log(l0-5) +log::�= 5

55.. HP0.2-�l�'ffl� 

(a) H2 P04- (b) POi-

56. ���?

!ii. 

SB. 

(a) Al203 {b) N20s .
� (a); Al203 'lftm�· 'f1f �

H20��11td!P!m��

(c) 92.1° 

(a) CH3� HCI (b) CH3CH(Cl)CH�CH3 

(C C eH 2Cl (d) CICH2CH2CH20
,::::; . 

�:(b)
���Cl)CH2CHr-+ ���I •

59. ffiltCli\ \ � 9IJtr'A fi\fit�Hi-lJ ��? . 
(a) n1 = 1. n2 = 2, 3,··· (b).n1 = 2, n2 = 3,4,·· 
(c) Bi = 3, n2 = 4, s.... (d) n1 = 3, n2 = 1,2, ...

tiO. ��� �ll1ill'l1"«i-1��-tt? 

(a) >olti'l>tll:fil, • . (b) 2-ii�tGltlR'! 
(c) 4��1� ·(d)·2·@1UIIC'M41

{d) 109.5°_ 

�: (c); -OH .-e -N02 �-ii�� ��I ��ctm>m�,n,

OH 

Opdon (d}� Answer���. @)'Cl� Cl,H·��"ffililt1
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E i
3 61. 11 = -1 � is 

:S 11 
(a)-1

·i+l3 

I i
3 

+Is =?
;s + 17 

(b) 0

�(b);i2 =-1,13 = -l,14 =l,i5 = 1,17 = -I 

13 1s 13 + . = -I i O = 0

(c) 1

I i i3 i+.:S
� I' -I 01 

;s t1 is+ . I -i O 
62. R���s={;:neN}111{���

(a) -1 (b} 0 (C) l

...- x+y 1t-y -,�,.,n:(b);_cos«+ cosy= p � 2�os2cos2
. . · 2 . x+y x-y t"smx+smy_=.q� sm2cos2= .. ,i11 

(ii) + (i) � ta1i!!!'. = 2
. :l p 

64. ��x3
-'111X

2 +nx r=O·?fi���
(a}mn-r=e· (b n (c}mr-+n=O 
�:(b);fdt·

. d 65. -
d 

-(sinx) = 
cosx 

(a} cotx (b)-cotx 
4il #;<slnx) cosx 

�: (b);-
d 
-(slnx) = � =.-.-. = -cotx� tx{cosx) -�nx 

66. ��lx-112:l��'MCJW� · '
(a)[-1, 1] (b)(-oo, -1] u (1, oo) (c)(-oo, O] u (2, oo) 
�(c)·tx-112: 1 �-1

-� 1�-lS-1 S 1 ' tx-11 x-1 . 

-1<-1
- x-1 • 

J -Slx-t 
-:::))(-1:S-1. x-1�1

=HSO, . x�2. . 
:. � � = (-oo, 0} U [2,oo) 

(d) i

(d)mr-n= 0

\ 

(d) cosec2x

(d) {O, 2]
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67. � f cp (x)dx = ln(ln x) + c �. '1PfRi{ c ffi �. � q>(x) =?
(a)xln(lnx)+x (b),:x (c)xl:,x (d)xlnx

� (c); f 4> (x)dx = ln(ln x) + c � 4>(x) = -t: [ln(ln x) + cJ = -1
1 ,,! + O = -

1

1 

. ..,. nx x x nx 

68. (O.-l)���t._y=l������'f���?
(a) y2 + 4x = 0 (b} y2 

- 4x = O (c) x2 + 4y = 0 (cf) x2 
- 4y == 0 

�:(c);"'l�i>ft�W'i(x,y)t · 
J(x -0)2 

+ (y + 1)2 = jy- 11::) x2 
+ y2 

+ 2y+ 1 = y2 - 2y + 1 � x2 
+ 4y = 0 

69 . .fj��..q����i�'1�����cfi'5cf1f�?· 

(a) tr . (b) 3rr (c) ; (d) 

1Pl'Nt-f: (b);��. a 'O a l.!ll1f� C<litcti � �;f���bl�COSine I . 

G 
. it 

cos!!= 
az+a2-b2 

� ! 
= 

2,2-(�j) � a2 = 2a2 - 3
3 2a2 2 2a• · 

2. 
:. � = na2 

= 11( ,fjJ = 3rr 
70. �����26�t.�'1f<i�5�;�.

(a) 16, 36 (b) 12,40• (d} 21, 31 
� (d); Option chock.

71. f(x) = x+!,x > 0 �
x 

(a) (1,-1) b) '-- )vz� (c) (1,2) · (d) (2,i)
� (c); 

�
) = � f' (x) = 1 -{ = 0 => � =- 1 � x2 = 1 � x = 1 (x > 0) 

r ;; x . . x
. 

)( 
.-. mf<l � = 1 <" -"2 ... ff'Jf � c1,2)1 

� /} x. ( 
�j2. . ( x )3 . 

72 x>O�Jql -+3 - +4 - +···=1 • 
l+x l+ l+X 

(a) i+x (b) 1:x . . (c) (1:x;z (d) (1 + x)2
�<d); c1-yr2 = 1 +2y+3y2 +4y3

+···

ifflPffifll����. y = 2.... :. (1-y)�2 = (1-2...)-
2 

= {l+x-x)-z = (1 + x)2l+x l+x l+x 
73.. *sec-13 = tan-1x�. �xcl�Pl'R�?

(a) 3 (b) ../3 (c) ..fi. (d) 2"2

-:(d);fl 
1 

tm-1 x = sec-1 1'1 + x2 = sec-1 3 ==> ...ff+xI = 3 q 1 + x2 
= 9 � x2 

= 8 � x = 2./2 

f.fip,{� l@],fal� 12 = 2-fi. :. sec�13 = tan-1x::::) tan-1x == tan-1 (. 2-f!:) � x = 2..fi.
I . . '· .' 
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74, �� ii� vl!lt���� ii·v=9���1uxvl =3..fJ�? 

(a)! (bf! · (c) !! 
3 4 6 

�: (c); Iii xvi = uvsin e = 3./3 ··· (i) 
ii. V = UV COS 8 = 9 ••· (ii) 
(i) + (ii) � tan8 = !. � 9 = :! 

yJ 6 

75. f(x)=ln(sirix)���"'I'�

(a) (-i,o) (b)(0,11) (c) (i.zn)
�:(b);f(x)���sinic>O�{O,n)���I 

76. y = (x - 2)(x - 3) .-x + 7 <ldK� '*' �ffl 4? 
(a) (2, 3) · (b)(2, 7) :· (c)(3, 7) 
� (d); y = {x - 2)(x -3)- x + 7 = x2 - Sx + 6 -x + 7 
= x2 

- 6x + 13 � y' :.: 2x - 6 = 4 � 2i< = 6 + 4 � x = 5
:.y= (5-2)(S-3)-5+7 = 8:.�(5,8) I 

n. (y +.ff/= 8(x + 3) �I� c911'1R�<l> �?

(a)(z.-i) . · (b){2.fi,i) • (c) ,:;

�: (c); .(y + ,/3)
2 

= 4.2(x +· 3) � Y2 == 4. aX · �{ 

(d)� 
3 

(d} (z"3 .. �) 

(d) 8
. �:(b);�B+sec3 9 = (cos9 tsec9)3 -3cos9 ·sec9(cos9 +sec&)= V-3.L2 = 8-6 = 2 

( 9 1)2. 80. x3 -3x+---, · 1!11�.x.-�� 
. x � 

(a) -20 (b) -6 (c} 6' (d) 20 
�IIR: (a)· (x3 - 3x + ! - .!.)2 

= (x3 _ i_ _ 3x + !)2 I 
X !CS zll X 

= {x3 -{;)
3

-:-

3.x2.;+ 3.x.G)J
1 

= {(x-;}3f = (x-�)6

Tr+1 = 6Crx6-r(-1Yx-r = 
6

<;.
(-l)rx6-2' 

�. 6- 2r = 0 �Zr= 6 � r = 3 
:.x��=(-1)� 6C3 :::-20 
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!1. � anRNA...!lil � N�l6"t<.-RI � UGG � UGA· � ��. Rt'P �ffi �? 

(a) mRNA����Ait"ttfi"H ��lltt<f (Ans: al 

(b}�ffl ffi ��(<f 

{c)������ 

(d) mRNA�lRNA����

82. C11tff "'1m � >:>l�(CJis ���

(a)fwl�� (b) ��l>t (c) ��

83. �•NJ ��l!Af 151GJl�1J�!f � �

84. 

85. 

86. 

87. 

88. 

89. 

90. 

91. 

(a) �Cill�f}Glijj (b) '1MlllC� (c) Nm�� 

{c)� 

(a) 'll�<IIC�ltl (b) illlVlkGll)I . · (c) )l�t6l<IIRJiU1
92. il�f.&l�C3111 � 'f!C'f C31CiilNiHI-� ff�

(a)� (b) �� (c)rotm .

93. �������
(a)�
(c)�� 

94. � �t\'1�11 C'llfull ,reJ? 

(a)l.'lffli� (b)��

(b) 0\(il(<l•II ¥1

(d)')llfJ�

(c)�'31�

( d) �l�t&tPPI

<d>m�

(d)� 

(Ans: bl 

[Ans: I> 

[Ans: c 

(Ans: b 

. (Ans: a 

(d) ��lt�!M . :

· (Ans: c

(d} fPlc"'l'l>t�& 
(Ans: t

(d)���J
(Ans:; 

(d)�cffl

(A11s: 

(Au: 
.· .. 

{Ans: 

{d)��'31� 
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95. ��om;'f-5���C<JRfC? .

(a) �hu.VM (b) � . (c) � 

[Ans: aJ 
(d) ill'tc'lltlll�

96. ���dl�-!Pr-
(a) � (bl cilf.R (c) +il'CIC'lli

97. 11�t4tt11Wt>I GfNRJ"J\'���?
(a)� (b) �l'(if;l<ffi\fl

98. �"��?
(a)� (b)�

99. �� <1n«'ffi!II �?

(c)��

(c)�

(a) Spvlllum (b) Pseudo-r,wnas (c) Vibrio
100. ��'*'����'1'1?

(a)� · (b)� (c)'illil 

101 .. 0����� 
(a)� ..

(Ans: bl 
(d)C��

(Ans: c) 

(Ans: ct 

(Ans: a] 

(d)�
• e come to Unive�9!")} � (.!ll$f 11if�� 'prinU()' .

{d) 5 

(c) 19 (d). 20 

(Ans: aJ 

�:(a)/+po 8,0)+5%2+ IO=f+8°+ I+ IO=!+ l +1 + 10= 12.5 � 12[�. �t� 
2 • 2 

104. -�Wd�.>tlttWH51Gt��� (Ans: a} 
(a)� (bl* (c)� (d)�

105. ��-·ooc-t LTE {LongTer� Evolution)����·
(a) )'If (b) �1 (c) � (d) s�

, 106. �C�izenDatabase-dl��-��-�?
1 

(a)-ltir (b) � (c) fffFu
107. C$!l1m �ic'r r.<ffl ffl'i5l� �� cftlf?

(a)� (b)� (c)�\

(d) NID;mt

(d}�t 
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(Ans: d) 

[Ans: d) 

(Ans: bJ 
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108. HTMl � <P>CH<SUb>3<1sub>CH<lp> �11fll1pf �

(a) CH3CH (b) CH3CH
{c) CH3CH (d) CH

109. � d!Wl<atl-,t'I �?

(a)ff��
(c) fi"til �

{a) DML e DDL 

{c} ODL -e DML

(b)M00-10�

(d)�

(c) (20)16

IAns:bl 

(Au:a 

113. WiMAX ��«��(film)� (Ans:d 
(d} 10000-50000 

(c) (40)a (d) (24)16 

·· 1,Ans: 4

(c)dl� (d)�
.. (Ans:: 

(a) <�Jllt>raolYf (b)''(l� (c)� (d)��
117. {AB).(A + B) �l�1!Aff? (Ans:I 

(a) A+B (b) .46)8 (c)A +B (d)AE&B
118. �61CIC'4Cdiii����91? [Ans: 

(a)� (b)-11$ (c)�· (d}� 

119. ,..���"l"'�Cifif�-..VC�'*I���?. (Am: 

(a) continue; (b) goto; (c) break; (d) getch;

120. lildMffSk:.q���<Rt;t�����-n? (Ans: 

(a)�� . {b)'fffl (c)�'fUJ-t (d)fir��
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